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No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE
Bqg. kg Bqg. kg Ba kg
1 AL R6.9.24 EARLL =T (5EER) BmHEHE9(<3.9) 5.28 5.3
2 L R6.9.24 [BEARLL=I1T (5EER) BmRHEHE9(<3.3) 13.7 14
3 Bt R6.9.19 [RARLULM=1F (% BRHEHE9(<3.3) 17.2 17
4 N /NG ] R6.9.24 BEERLULM=IT (FeE% REE9(<29) BRHET(<L2.8) BmEEd
5 JIH{RET R6.9.24 BERLWL=1T (FEE% BRHET(<3.4) BRHE9(<2.6) ;- darkcac
6 SEE BT R6.9.24 BRLULM=1F (FEE% BRHE9(<2.6) BRHE9(<2.9) BmHET
7 RIEGH R6.9.24 BERLULM =T (H8E%) BRHET(<4.3) BRHET(<3.9) > danpcac
8 IS HT R6.9.24 FRLULM=1F (5EER) BRHET(<3.4) BmHEHE9(<3.2) - Janpcac
9 IS HT R6.9.24 ERLULM=1T (F8E%) BRHEET(<4.5) BRHE9(<4.0) - Janpcac
10 IS HT R6.9.24 FRLUWM=1F (5EE%) BRHEET(<3.5) BRHEET(<3.3) BmEEd
11 tSmT R6.9.24 FRLWM=1F (5 E% BRHET(<4.0) BRHEHET(L3.7) BRHET
12 IR R6.9.24 BERLWL=1T (FEE% BRHE9(<5.9) BRHET(L3.7) ;- darkcac
13 =0T R6.9.19 BERLWL=1T (FEE% BRHET(<4.4) BRHET(<3.6) BRHEET
14 FET R6.9.25 BRU =11 (% BRHET(<3.7) BRHE9(<3.1) BRHET
15 =BT R6.9.24 ERU T+ (FEER) BRHET(<3.8) BRHET(L3.7) > danpcac
16 IS HT R6.9.24 BRU =1+ (%) BmEHE9(<29) BmEE9(<29) - Janhcac
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BREMHR

HElDiELE tH Li-134 t+ 9 Li-137 5EE
Bqg kg Bg kg Ba kg
17 S mT R6.9.24 BERUO =T (% BRHE9(<3.0) BRHET(<1.) ; Jarkcac
18 S mT R6.9.24 BRUOOI=T (% BRHET(<4.2) BRHE9(<3.0) ;- daskcach
19 RS R6.9.24 T3 (BEHE) BRHET(<3.0) 6.60 6.6
20 RS R6.9.25 VA (ERE) BRHET(<3.6) 14.6 15
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